
A
CT

U
A

TO
RS

A1

A1.19

FOOT MODEL A

FLANGE MODEL C

COUNTER-HINGE MODEL BC

NUT FOR HEADS MODEL D

NUT FOR PISTON RODS MODEL DA

Code Ø ø D XS ±1.4 AU AO NH ±0.3 TR Js14 US ø AB H13 R S Weight [g]
W0950080001 8 12 24 11 5 16 25 35 4.5 10 3 22
W0950080001 10 12 24 11 5 16 25 35 4.5 10 3 22
W0950120001 12 16 32 14 6 20 32 42 5.5 13 4 42
W0950120001 16 16 32 14 6 20 32 42 5.5 13 4 42
W0950200001 20 22 36 17 8 25 40 54 6.5 20 5 90
W0950200001 25 22 40 17 8 25 40 54 6.5 20 5 90
*ISO 6432 values

Note: Individually packed

A
CC

ES
SO

RI
ES

 F
O

R 
IS

O
 6

43
2 

M
IN

I-C
YL

IN
DE

RS

Code Ø ø D W ±1.4 ø FB H13 TF Js14 UF UR S Weight [g]
W0950080002 8 12 13 4.5 30 40 22 3 10
W0950080002 10 12 13 4.5 30 40 22 3 10
W0950120002 12 16 18 5.5 40 52 30 4 26
W0950120002 16 16 18 5.5 40 52 30 4 26
W0950200002 20 22 19 6.5 50 66 40 5 52
W0950200002 25 22 23 6.5 50 66 40 5 52
*ISO 6432 values

Note: Individually packed

Code Ø AO LG TR Js13 NH ±0.2 MO ø AB1 ø AB H13 R S Weight [g]
W0950080005 8 2.5 22 12.5 24 18 4 4.5 6 2.5 24
W0950080005 10 2.5 22 12.5 24 18 4 4.5 6 2.5 24
W0950120005 12 2 25 15 27 25 6 5.5 7 3 40
W0950120005 16 2 25 15 27 25 6 5.5 7 3 40
W0950200005 20 4 32 20 30 30 8 6.5 10 4 78
W0950200005 25 4 32 20 30 30 8 6.5 10 4 78

Note: Supplied complete with 1 pin and 2 snap rings

Code Ø F CH H Weight [g]
0950080010 8 M12x1.25 19 7 12
0950080010 10 M12x1.25 19 7 12
0950120010 12 M16x1.5 24 8 20
0950120010 16 M16x1.5 24 8 20
0950200010 20 M22x1.5 32 7 44
0950200010 25 M22x1.5 32 7 44

Note: Individually packed

Code Ø F CH H Weight [g]
0950080011 8 M4 7 3 0.6
0950080011 10 M4 7 3 0.6
0950120011 12 M6 10 4 1
0950120011 16 M6 10 4 1
0950200011 20 M8 13 5 3
0950322010 25 M10x1.25 17 6 7

Note: Individually packed

FIXINGS

ACCESSORIES FOR ISO 6432 
MINI-CYLINDERS

#TAG_A1_00040

A
CT

U
A

TO
RS

A1

A1.47

A
CC

ES
SO

RI
ES

 F
O

R 
IS

O
 1

55
52

 C
YL

IN
DE

RS

Code Ø B C D E G J L M N Weight [g]
W0950322108 32 26 32.5 45 7 32 11 10 10 10 106
W0950402108 40 28 38 52 7 36 13 10 12 12 138
W0950502108 50 32 46.5 65 9 45 13 12 12 12 252
W0950632108 63 40 56.5 75 9 50 17 12 16 15 350
W0950802108 80 50 72 95 11 63 17 16 16 15 655
W0951002108 100 60 89 115 11 73 21 16 20 22 980

Note: Supplied with 4 screws, 4 washers

Code Ø TF UF E MF R øFB W Weight [g]
W0950322002 32 64 80 50 10 32 7 16 246
W0950402002 40 72 90 55 10 36 9 20 290
W0950502002 50 90 110 65 12 45 9 25 522
W0950632002 63 100 120 75 12 50 9 25 670
W0950802002 80 126 150 95 15 63 12 30 1420
W0951002002 100 150 178 115 15 75 14 35 2040
W0951252002 125 180 220 140 20 90 16 45 4300

Note: Supplied with 4 screws

Code Ø TF UF E MF R øFB ZF Weight [g]
W0950322002 32 64 80 50 10 32 7 130 246
W0950402002 40 72 90 55 10 36 9 145 290
W0950502002 50 90 110 65 12 45 9 155 522
W0950632002 63 100 120 75 12 50 9 170 670
W0950802002 80 126 150 95 15 63 12 190 1420
W0951002002 100 150 178 115 15 75 14 205 2040
W0951252002 125 180 220 140 20 90 16 245 4300

Note: Supplied with 4 screws.

Code Ø F H CH Weight [g]
0950322010 32 M10x1.25 6 17 6
0950402010 40 M12x1.25 7 19 12
0950502010 50/63 M16x1.5 8 24 20
0950802010 80/100 M20x1.5 9 30 32
0951252010 125 M27x2 12 41 74

Note: Individually packed

COUNTER-HINGE FOR MODEL B - MODEL GS

FRONT FLANGE - MODEL C

REAR FLANGE - MODEL C

ROD NUT - MODEL S

+ = ADD THE STROKE

 ISO 15552 COUNTER-HINGE FOR MODEL B - MODEL AB7

Code Ø EM B ØHB ØCK TE RA PH UR UL L BT EA P Q Weight [g]
W0950322017 32 26 20 6.6 10 38 18 32 31 51 3 8 10 21 3 60
W0950402017 40 28 22 6.6 12 41 22 36 35 54 2 10 15* 21 3 85
W0950502017 50 32 26 9 12 50 30 45 45 65 3 12 16 21 3 162
W0950632017 63 40 30 9 16 52 35 50 50 67 2 14* 16 21 3 191
W0950802017 80 50 30 11 16 66 40 63 60 86 7 14 20 21 3 332
W0951002017 100 60 38 11 20 76 50 71 70 96 5 17* 20 11 3 522
W0951252017 125 70 45 14 25 94 60 90 90 124 10 20 30 21 3 960

* Dimensions not to ISO 15552

A
CT

U
A

TO
RS

A1

A1.19

FOOT MODEL A

FLANGE MODEL C

COUNTER-HINGE MODEL BC

NUT FOR HEADS MODEL D

NUT FOR PISTON RODS MODEL DA

Code Ø ø D XS ±1.4 AU AO NH ±0.3 TR Js14 US ø AB H13 R S Weight [g]
W0950080001 8 12 24 11 5 16 25 35 4.5 10 3 22
W0950080001 10 12 24 11 5 16 25 35 4.5 10 3 22
W0950120001 12 16 32 14 6 20 32 42 5.5 13 4 42
W0950120001 16 16 32 14 6 20 32 42 5.5 13 4 42
W0950200001 20 22 36 17 8 25 40 54 6.5 20 5 90
W0950200001 25 22 40 17 8 25 40 54 6.5 20 5 90
*ISO 6432 values

Note: Individually packed

A
CC

ES
SO

RI
ES

 F
O

R 
IS

O
 6

43
2 

M
IN

I-C
YL

IN
DE

RS

Code Ø ø D W ±1.4 ø FB H13 TF Js14 UF UR S Weight [g]
W0950080002 8 12 13 4.5 30 40 22 3 10
W0950080002 10 12 13 4.5 30 40 22 3 10
W0950120002 12 16 18 5.5 40 52 30 4 26
W0950120002 16 16 18 5.5 40 52 30 4 26
W0950200002 20 22 19 6.5 50 66 40 5 52
W0950200002 25 22 23 6.5 50 66 40 5 52
*ISO 6432 values

Note: Individually packed

Code Ø AO LG TR Js13 NH ±0.2 MO ø AB1 ø AB H13 R S Weight [g]
W0950080005 8 2.5 22 12.5 24 18 4 4.5 6 2.5 24
W0950080005 10 2.5 22 12.5 24 18 4 4.5 6 2.5 24
W0950120005 12 2 25 15 27 25 6 5.5 7 3 40
W0950120005 16 2 25 15 27 25 6 5.5 7 3 40
W0950200005 20 4 32 20 30 30 8 6.5 10 4 78
W0950200005 25 4 32 20 30 30 8 6.5 10 4 78

Note: Supplied complete with 1 pin and 2 snap rings

Code Ø F CH H Weight [g]
0950080010 8 M12x1.25 19 7 12
0950080010 10 M12x1.25 19 7 12
0950120010 12 M16x1.5 24 8 20
0950120010 16 M16x1.5 24 8 20
0950200010 20 M22x1.5 32 7 44
0950200010 25 M22x1.5 32 7 44

Note: Individually packed

Code Ø F CH H Weight [g]
0950080011 8 M4 7 3 0.6
0950080011 10 M4 7 3 0.6
0950120011 12 M6 10 4 1
0950120011 16 M6 10 4 1
0950200011 20 M8 13 5 3
0950322010 25 M10x1.25 17 6 7

Note: Individually packed

FIXINGS

ACCESSORIES FOR ISO 6432 
MINI-CYLINDERS

#TAG_A1_00040


